Fitting the time-to-distance relation
Predicted Drift Distance Vs. 8 Vs. t
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The (3D) plot shows what the average distance expected from
the track fit as a function of delta and drift time in the straw.
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This is the same plot overlaid with the contours of the T-D lookup
extracted from GARFIELD (red lines).

Ideally the contours of the data should line up with the lookup...
Run 3650
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Instead we can fit the function to the data to get better agreement.

Run 3650
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The results of the Run 3650 fit, don’t match the 3673 data well.

Run 3673

Carnegie Mellon University



Fitting the time-to-distance relation
Predicted Drift Distance Vs. 6 Vs. t;

rift

é [cm]

]
]
!
!

0.2 ..--..n:,._- 4144

0.8
0.1

0.6
0.4

-0.2 % 0.2

i d it ; ;
PP EE g *
Hiid 0 5 - , ; (
_03I:f';'I:If.lf‘ll'\lllll'.lll NN AR AN RN G ANRN I A AU AN BN RS RN AR AT 0

-0 100 200 300 400 500 600 700 800 90t0 [1(}00
drift ns

After the fit. Have to understand structure at high drift times better.

Run 3673
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Things look better, especially at long drift times.

Run 3650 + 3673
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Fitted value of par[1]=Mean Fitted value of par[2]=Sigma
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